Chemistry Distance Learning Packet — CP and Honors

1) Midterm Tic Tac Toe Assignments — Please complete the sheets for your class, PAY ATTENTION TO
THE HEADER ON EACH SHEET TO COMPLETE THE ONE FOR YOUR CLASS
2} Midterm Study Review Questions (50 multiple choice): May be completed online through Microsoft

Teams or on the hard copy. _

3) Textbook Reference Sheets ~ A list of topics and page references for the CP Chemistry Textbook and
Honors Chemistry Textbook

4) Workbook Reference Sheet — CP Only

5) Periodic Table and Equation Sheet

6) Instructions to access Microsoft Teams.

7) Instructions to Access the Online Textbook is posted in Teams and on Teachers’ Websites

You are expected to complete 1 assignment per day. Each assignment should take approximately 60 minutes to
complete. There are 9 total tic-tac-toe assignments (3 per unit covered so far) and one culminating assessment

(the study review questions).

Rubric for The Tic-Tac-Toe: Each Grid is worth 100 points for an assignment total of 300 points. Point values
for each assignment square is listed below:

30 30 40

30 30 40

30 30 40

Office Hours for teachers: Weekdays: 10-11am and 2-3pm
Email addresses: Remind; To 81010 text the following;

Mrs. Bedard: sbedard@dorchester2.k12.sc.us Remind:@bedardchem

Ms. Causey: meausey@dorchester? k12 sc.us Remind: 1st: @d3f6h6 3rd: @3d84d9 4th: @%a65dg
Mr. Cook: edcook(@dorchester? k12.sc.us Remind: @chemcooker

Mrs, Mellott: smellott@dorchester2 k12.sc.ug Remind: @chemellott

Ms. Ritchie: emritchie@dorchester2.k12.sc.us Remind:@2ndsemhe
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R

h overarching unit), N

Create a vocabulary list of 15 terms from the unit.
Give the term, definition, and example.

Chapters by topic are listed on the “Honors
Chemistry Unit Reference Sheet”.

You may use your notes, the textbook readings, or
videos provided to cover the Unit 1 topics listed
above,

Create a visual including 5 vocabulary terms from
the unit in one graphic.

Visual may be print or digital. Options:
infographic, PowToon, comic strip, Flipbook etc.

Create and record yourself giving a 5 minute lesson
on the topic to someone - or ~create a narrated
PowerPoint or YouTube video

Make a poster — it can be as colorful and creative as
you like. It must include at least 1 vocabulary term
from the unit and have a visual example to explain
it.

Write a story using a topic from the unit
Role: Who or what are you as the writer for
example: student, a teacher, a chemist, a

public/history figure like Mendeleev

Choose 1 audience from the following: 1)} early
elementary aged child 2) grandparent 3) peer

Format: Written clearly or typed

Create a fotal of 10 questions including at least 5
that have relevant real world/cultural examples.

At least 5 of these questions should be free
response.

You also need to include a key with worked out
solutions to all problems. All work must be shown.

Watch the assigned video(s) on the “Honors
Chemistry Unit Reference Sheet” and write
thorough notes.

Write a school appropriate song, rap or create a tik
tok to demonstrate, teach or review a topic in the
unit ,

Submit it in print or with a link to the online access

Read the relevant chapter(s) for the unit and write
your own thorough notes or complete the assigned
pages in the Reading and Study workbook that you
were given in class.

Chapters by topic are listed on the

To access textbook online refer to remind for login
informatiomn.
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The periodic table

www.webelements.com

1 2 3 4 5 6 7 8 9 i0 11 12 13 14 15 16 17 18
Hydrogen Helium
1 2
H He
1.008 Key: 40025
Lithlerm Beryllium Element Narne Boron Carban Nitragen Oxygen Fluarine Neon
3 4 Atomic number 5 6 7 8 g 10
Li | Be Symbol BIC| N O| F |Ne
E.92 8.0122 Atomic weight (mesn relative meass) 10.81 12.011 14.007 15.699 18.998 20.180
Sodlum Magnesium Aluminium SHlicen Phospherus Sulfur Chlatina Argon
11 12 13 14 5 16 17 13
Na | Mg Al ' Si| P | 8 |Cl!Ar
22.890 24305 25982 28.085 30.874 32.06 35.45 38.848
Fotassium Calcium Scandium Titanium Vanadium Chromium | Manganese lron Cobak Nickel Copper Zinc Gallium Germanium Arsanit Selenium Bromine Krypten
19 20 21 22 23 24 25 26 27 28 29 30 H 32 33 34 35 36
K | Ca Sc|Ti| V|Cr| Mn| Fe|Co  Ni|Cul2Zn Ga Ge | As | Se | Br | Kr
30.098 40.C78{8) 44.956 47.867 508942 51.996 54838 55.845(2) 58.833 58.693 63.546(3) 65,3802} 69723 72.630(8) 74.922 78.971(8) 79.904 83.788(2}
Rubldium Strantium Yitrium Zirconium Nioblum Molybdenum { Technetium | Futhenium Rhodium Pailacium Silver Cadmium Indium Tin Antimony Tallurivm jodine Xenon
a7 as 39 40 a1 42 43 44 45 46 a7 48 49 50 51 52 53 54
Rb | Sr Y | Zr INb |Mo| Tc | Ru | Rh | Pd Ag CdiIn Sn | Sb|Te I | Xe
85.4968 &7.62 8R.908 91.224{2) 92.806() 9505 [98.808] 101.07(3 02,91 10642 107.87 11241 11482 11871 12176 127.50(3) 125.80 1329
Caeslum Barlum Lutetiurn Hafnium Tantalum Tungsten Rbenfum Osmilumn Tridium Platinum Gold Mercury Thallium Lead Bismuth Palanlum Astatine Hadan
35 56 57-70 ral 72 73 74 5 76 77 78 78 a0 81 B2 83 84 85 86
* -

Cs | Ba Lu Hf | Ta| W | Re|Os| Ir | Pt | Au Hg Tl | Pb| Bi | Po| At | Rn
182,91 13733 174.97 178.48(2) 180.85 183.84 18621 180.23(2) 182232 195.08 196.97 200.59 20438 072 208,98 J208.85] J209.95) [222.02)
Francium Radiuvm Lawrancium |Rutherfardium| Dubalum Seaborglum Bohrium Hagsium Msitnatium | Darmstactium| Roentgenium Copernlcium | Nihonlum Fleravium Moscaviuen | Livermorum | Tennessine Cganesson
ar 83 89-102 103 104 105 106 107 108 108 110 . 111 ii2 113 114 115 116 117 118

*%k
Fr | Ra Lr | Rf /Db | Sg | Bh | Hs Mt | Ds Rg Cn Nh Fl Mc|Lv| Ts Og
1223.07] [226.03] [262.11] [267.12] [270.13 [269.13] 7013 270,15 1278.16] [281.17] [281.17] 1285.18] [286.18] 1289.19] [P89.19] [293.20) [293.21] 294.27)
Lanthanum Garlum  Prasecdymiur Neodyntium | Promethiom | Samariam Eurcpium Gadalinium Terblum Dysproskirn Holmium Erbium Thutium Yiterbium
57 58 59 60 81 62 63 64 65 a8 a7 68 69 70
‘tanthanoids | La | Ce | Pr | Nd |Pm|Sm| Eu | Gd | Tb Dy Ho| Er |[Tm! Yb
138.51 140.12 140.91 14428 [144.91] 150.36(2) 151.96 157.25(3) 158,83 162.50 164,93 167.26 168.83 172.08
Actinium Thariumm Protactinium Uranium Neptunium Piutonium Americhum Curlum Berkelium | Caflfornfumm | Enstefnfum Fermium | Mandelevium | Nobelium
89 an o1 o2 23 94 e5 26 97 S8 88 100 101 102
“actincids | Ac | Th |Pa| U |Np Pu|Am | Cm| Bk Cf | Es | Fm | Md No
[227.03] 232.04 231.04 238.03 [237.05) 1244.06] [243.08] [247.07] [247.07] 1251.08] [252.08] [257.10} 1258.10] [258.10}

Symbols and names: the symhols end names
Group labels: the numeric system {1~18) used
Atomic weights (mean refative masses): these are the IUPAG 2013 values and
elements having an atomic weight interval (H, Li, B, C, N, O, 8, 8, ¢,
value of Tc-89 given as that is the most commanly used isotope,

©2019 Prof Mark J Winter [WebElements Ltd and University of Sheffield]. All rights reserved. Far updates to this table see hitps:/iwww.webel

given to 5 significant figures. The last sigrificant figure of each values s considered reliable to £1 exce:
1) Elaments for which the atomic weight is isted within stjuare brackets have no stable nudlides and are represt

of the elements, and their spellings are those recommended by the: Inferrational tnion of Pure and Applied Chemistry (IUPAG - hilpfwww.iupaz.org/). In some couniries, the spellings aluminum, cesium, and sulphur are usual,
here is the curent [UPAG convention.

pt where a larger uneartainty is given in parentheses. [UPAC representative values are given for those

ented by the elemant's longest lived fsatupe reported in the IUPAG 2013 valies except Te for which the

printable-pericdic-tablef {Version date: 22 June 2019).
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Name: Class: Date:
Spring 2020 Mid term Review

Multiple Choice

Idertffy the choice thor best comp the or the question.

i

Wi

A

Use the aetivigy series of metals ro complete & balanced
chemrical equation for the fellowing single replacement
reaction.

© Az(s)+ KNO3 (aq} —~

AgNOs +K

AgK +NO3

AgKNO3

Ne reaction takes place becanse silver is less
reactive than potasshim,

pop e

. A compotmd composed of cations and anions is called

afm) -

a  disteric molecule
b.  polar compound
¢.  covaient molecule
d. ionic compound

. Express the prodvct of 2.2 mm avd 5.00 mm using the

correct nuomber of significant digies.
a  10mm?

b 11 mm?

c. 11.0mm?

d  11.00 mm2

. Whatis thé formula unit of aluminum oxide?

4, Al

b. AlzO

e AlQg

d AlyO,

In the reaction 2C0(g) + Qa(g) — 2C04(g), what is the
Tatio of moles of oxygen used to moles of CO4
produced?

a. Ll
b 221
¢ 12
n.wuu

6.

10.

How many molecules are I 2,16 mol CO5?

a2 2.53 % 107 molecules

b 3.79x 102 molecules
-

¢ 3.49x 107" molecoles

4 126x 102 molecules

. Which of the following is a physical property?

a. explosive

b. combustible

¢. melting point

d ability to mst

In the chiemical equation B5Oa{ag) — HyO) + O2(g),
the Opisa__ .

a. catalyst

b, solid

c.  preduct

d. reactant

. Which of the foliowing involves a chemical change?

a mixing

b. melting

c. ginding

& decomposicg

Which of the Blfowing measurements contains two
significant figures?

a. 0.00400L

b 0004031

c. 000644 L

d. 0.00440L

- What are the coafficients that will balance the skeletor

equation below?
Na+Hp~NHz
a 1,1,2

b 1,33

& 31,2

d 1,32

. Which of the {ellowing elements exists as a diatonic

molecula?

a. neon

B, lithium
¢  nitrogen
4 suMiw

Name;

. In the chemical Teaction in which sucrose is heated and

decomposes to form carbon dioxide and water, which of
the following is 2 reactant?

a. SUcrase

b, carben diexide

€. water

d.  heat

. How mazy moles of aluminum are needed to resct

. completely with 1.2 mol af Fa()?

18.

15.

2AKS) -+ 5Fe0(5) — 3Fe(s) + Al05(s); The molar mass
of FeO is 71.85 g/mol

a 1.Z2mol

b, 6.3mol

c. 1.6mol

& 24mel

In & double-replacement reaction, the

a prad are always mol i

b.  reactants are two jonic compounds.

€. Ieactanis are two elements.

4 produets are a new element and 2 new componnd,

. ‘What is the formmla nnit of sodium pitride?

2. NalN

b, NapN
¢ NagN
& NENj

. ‘What are the correct forrulas and cosfficients for the

products of the following donble-replacement reaction?
RYOH +HzPO, —

B RBP4z +Hz0

b RbFO4+2HZ0

o Rb3POy +3H20

d. H3Rb+PO4OH

‘Which groep of measursments Is the most precise? (Each
group of measwrements is for a different ohiect.)

2 Z2g3g4g

b 20g30g40g

c, 2g25g3g

d lg3g5g

‘What i3 the mass in grams of 5.90 mol CgH g7

a. 006512g
b. 1%94g

c. 389g

d. 673¢g

t2

20

2L

24.

DA

Whet {s the percent compasition of carborn, in heptane,
CoH g7

a 12%

b 19%

e 68%

d. 84%

How many motes of CaBry are in 5.0 grams of CaBry?

2.5 %10 % mol
.o.ﬁxssuﬁa

2.0 % 10" mot

H

A .0x10° mel

. The products of 2 combustion reagtion include

2. water, carbon diexide, and carbon menoxide.
b.  hydrogen, water, and earbon dioxide.

¢ hydrogen and carbon monoxide.

d  hydrogen aed water.

. How many moles of fingsten stoms are in 4.8 x 102

atoms of Amgsten?
o 8.0x 102 moles
b 20 10! mofes
o 13x 107! motes

6 13x10"2 moles

When the following equation is balanced, what is the
coeflicient for HCI?

Ma(s) + HCHeg) — MeCiglag) + Halg)

a 6

b 3

. 1

d 2

. What is the measnremont 111.009 mm rounded offto

four significent dights?
a. 1llmm

b, 1110 1mm

& 11L01 mm

4. 110mm

. The equation below shows the decemposition of lead

nitrate. How many grams of oxyeen are produced when
11.5 g NO3 is formed? The molar mass of NOois 46.01
2ol

2PB{NO3)2(s) = 2PhO(s) + AN {g) + O (g)

a 100g

b 200g
c. 288g
4 R0g



Name:

49,

41,

30.

ik A

Which ofthe following ounds contains the Mo+ 45. The complete combustion of which of the folowing
ion? ¥ substances produces carbon dioxide and water?

a  MnS a CgHig

b MmnBry b. KCO3

¢ Mny03 o CaHCOj3

4 MnO d NO

How are chemical formulas of binary ionic compounds 46,  If acombination reacton takes place between rubidium

. generally written? and broming, the chemical formuia for the product is
a.  cation it left, anion on right .

b.  amion on left, cation on right 2 RoBr
c.  Roman. muzeral first, then anion, then cation b.  Rb,Br
4. subseripts first, they fons c. RbBrp
. Select the correct formula for sutfin hexafinorids. 4 RbBr
a S4F,
2Y8 47. Inachemical reaction, the mass of the products
b. Fg503 4. is less than the mass of the reactants.
¢ FgSy b.  is greater than the mass of the reaciants.
o s ¢ is equal to the mass of the reactants.
4 hasno refationship to the mass of the reactants.

. The moler volmne of a gas at STP cccupies ___. 48. At STP, how many liters of oxygen are raquired to react
a, mm..A L completely with 3.6 liiers of hydrogen to form water?
b 00 ZHia{g) + 0a(g) — 2HaO(g)
¢. 1 kilopaseal 2 18L
d. 12 grams . b 36L

. What are the coefficients ther wil! balance the skeleton c. 20L
aqeetion below? d 24L
AlCT; +NaOH — A{OH); +NaCl N

A 49. How many liters of bydrogen gas are needed (o resct
w, mm MM with C85 o produce 2,50 L of CH, at STP?
P. .M' ~. %. 2 AHA(gHCSo(l) = CH4{gh +2H5(8)
a 1,331 = 250L

What is the

Tength?
2 12.9%cm ¢ 13.00cm
b 13.0cm d 12%9cm

Name:

27.

28,

30.

33,

Express the sum of 7.68 m and 5.0 m using the correct
pumnber of significant digits.

a 1268m

b 127m

c. 13m

d Wm

How many valsnce eiectrons are in 2 silicon atom?

a

b.

c.

o b b

d. 8

. Iron({IT) oxide is forined when iron combines with

ouxygen in the air. How many grams o£Fep03 are

formed when 16.7 g of Fe reacts completely with
axygen? The molar mass of Fen O3 is 159.70 g/mol
4Fe(s) +302(g) = 2Fey05(5)

a 120g -

b 239g

c. 478z

d 95.6g

Which conversion fetor do yor use fivst wn caloulate the
number of grams of CC4 produced by the reaction of

50.6 g of CHy with 057 The cquation fir the camplete
combustion of methane is:

CHalg) +202(g) = COx(g)2H,00)

& 1mol CHa/16.0 8 CHy

b, 2mol Oyl mol CO4

s 16.0gCH/1molCO,

4 44.0 g COLM2 mot COo

. The closencss of 2 megsurarent to s te value isa

measure of its

2 precision

b. acouracy

¢ reproducibility
4 usefulness

. What is the molar mass 0f (NH4)2C05?

a ldg

b 138g

c. 96g

a T73g

4 substance that can be separated inte two or more
substances only by a chemical change isam) .
a  sohrtion R

b element

c. mbmee

d. compound

w

35

37.

38.

I A

What is the density of an object having a mass of 8.0 g
and 2 vohume of 25 om>?
o 032 glom®

b 2.0gem’

c. 3.1 W._....Bm

4 200 ghom®

‘Which of the following is a physical property of water?

a It remcis with caleium mefal to produce & basic
sointion.

b.  Ttcan be decomposed by ¢loctrolysis.

¢ Itis composed of hydragen and oxygen.

d. It meits below room temperame.

. All atoms are

a  positively charged, with the number oT protors
exceeding the munber of electrons.

b. negatively charged, with the namber of ¢lectrons
enceeding the niomber of protons.

c. neutra, with the number of protons squaling the
mumber of electrons,

4. mentral, with the number of protens squaling the
number of electrons, which is equal 20 fhe nomber of
neutrans.

I Bohe's model of the atom, whers are the electrans and

protons located?

2. The electrons move around the protons, which are at
the center of the atom.

b.  The eiecirons and protons move throughout the
Fomm.

¢. The clectrons ocenpy fixed positions around the
protons, which are at the center of the atom.

d.  The electrons and protons are located throughout the
atom, but they are not fiee to move.

Vhich of the foilowing elements Is in the same period as

phosghorus?

a carbon

b.  magoesium

¢. nitrogen

d.  oxygen

. Which of the following categories includes the majority

of the clements?
metzlloids
ligaids
metals
normetals
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